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F.Y: B.B.A
105: BUSINESS MATHEMATICS
(2019 Pattern) (Semester - 1)
Time : 2% Hours] u \ [Max. Marks : 70
Instructions to the c:ii{v;}lidates:
1) All quc;}}}fibns are compulsory.
2) Figu?é‘s“‘ to tie right indicate full marks.
3) Useof slt\t\z?is'tlical tables and calculator is allowed.

4)  Symbols-have their usual meanings.

0l) A) Fi\li\in the blanks : [5 x 2=10]

\i: 2 a [Ty A LR ~, 7
>~ a) In the ratio B b is called N

1) Antecedent
i)  Consequent N

i) Parameter_

iv) None of the abb've

by Ifxy= 4:9,;‘1;1d x=28theny= .
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¢) Percentage means per

A 100
i) 200
iii) 300
iv) 500

_— o . in incurred.
d) If selling price is more than cost price then minc

A Profit
i) Loss

“ 1) - Commission

Y7,
¢

iv) None of the above

1 = 5)
e C=___ :\1(/ RURETEY
) nr
]) 3 J fY ! b2 - | 20
6 X2
U) 5 3 ﬁo!o: .
i) 10 £
iv) 20
B) State whether the following statement are True or False :  [3 x 2 = 6]

a) Inan identify matrix all the diagonal clements are 1. T~

b) A feasible solution of L.P.P need not satisfy all the ‘const_rai‘.ri“ts. -

c¢) For the arrangements of objects permutation is\'hl‘e"(']uired.()—

02) Attempt any four of the following : 2 . [4 x 4 =16]

a) Ifthe ratio of two numbers is 3:5 and their sum is 232. Find the numbers.

. . 2282
b) Find the number whose 14% is 84. Sz sn

Iz 2
gy < . 176 N g 2?
b 5\;"1‘ 9y = Tt g &7
3 ;’_q,al 2w §
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x 6
. . ‘ 6 * 'i'/
c) If [4 8} IS a singular matrix, then find the value ofx.\ w 8 i 2'/‘ 24
=
d) If"C ="C., th Vo
6 + then find Cz‘ n(,f: CL’ G:nlh n:)o

I T g
e) Asum Ofmonéyrdquble\l‘tselfm 5 years. Find the rate of Simple interest.

f) The averagewgf'lhree’numbers is 77. The first number is twice the second
number gq;l-.secqu number is twice the third number, then find the first
number<.'

v
\
.\. .

~

03) Atterript,avny,\,four of the following : [4 x 4 =16]

a) Findif P, =3 ('C,)

O

-
o

s[4 s _ 2 3
b)- IfA= 3 7 , find a matrix X such that A-2X= 2 s

c) What sum will amount to l}s‘;-d}:OOQin 3 years at the rate of interest 6%
p.a. Compound interest? ~.' Gl

d) An agent receives Rs-1,275 as commission at the rate 7.5% on sales.
Find the amount of his sales.

e) If12July2018is Sundayj What will be day on 12 July 20227

f) Write a note on fundamental principle of counting.

04) Attempt any four Qﬁiflé following : |4 x 4 = 16]

2 1 . ‘
a) If A =L 2}, show that A* = 4A-I. Q™

b) A committee of 3 persons is to be formed amongst 4 men and 3 women,
5o as to include atleast one man and at-least one woman. In how many

ways can this be done?
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¢) Ashok purchased 130 toys at Rs. 20 cach and sold all toys at Rs. 2
cach. Find total protitand percentage profit,
&) Explain feasible solution and optimal solution of the L.P.P

) The tollowing line graph show the percentage profit carned by two

Y

8
companies A\ aud B in o different years.
-
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Answer the following questions :
i) Ifthe incomes of company A and B are same in 2014, then find the
ratio of their expenditures. AN O
ii) If expenditures of company A in 2010 is Rs. 60,000/="and that of
company B in 2013 is Rs. 1.50,000/- then find sum of their incomes.
"\1,}‘ A ~
A__,“;i\i\h‘w ™~
f) Explainsingular and non-singular matrix. _ ™ N
— \x
N
O\
o
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0) Attempt any one of the following

. [16=0) o1 )
a) Solve the following L.P.P by graphical method
Minimize Z =4y + 3
Subject to _
4+ 121 518
l6x +4y. 524
I 20
8x 6y »24
vy >0
b) Find the inyerse of the matrix ;
]\\; 2 5
* 37
NS |
Lo ¥ * * '
\\\‘ \
\
ol
:}r.
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